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Exclusivity variables, spring23 test runs
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There is more DVCS events per Fcup charge in outbending runs.
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PDVCS exclusivity variables summer22/spring23 inbending

All inbending test spring23
runs:

017485, 017577, 017737,
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PDVCS exclusivity variables summer22/spring23 outbending

All outbending test spring23
runs:

17776, 17810
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PDVCS exclusivity variables CCDB/sqlite
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PDVCS electron vertex, CCDB/sqlite
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PDVCS proton vertex, CCDB/sqlite

All test runs (both
inbending and outbending)
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pDVCS, CCDB/sqlite inb vs outbending
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pDVCS, CCDB/sqlite inb vs outbending, y vertex
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Vertex z, summer22 vs spring23
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Vertex z, spring23 outbending vs inbending
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Vertex z, summer22 vs fall22

Z vertex for electron (level2
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Diffference between electron and proton vertex

dVZ = e_VZ — pVZ wn z<1|0_|3 T |d|\/|Z T
Offset of about 5mm T 350 summer22 level2
5 Dk summer22 level3
e — fall22 level2
g 3 :_ fall22 level3 |
()] - .
LD 25 —
] — ]
g ol -
o = -
< 150 =
1= =
0.5 =
= — T e .
0
06 —4 2 0 2 4 6

dVz [cm]




dVz per sector
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